SNP: A -> C Calibration
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SNP: A -> G Calibration
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SNP: A -> T Calibration
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SNP: C -> A Calibration
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SNP: C -> G Calibration
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SNP: C -> T Calibration
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SNP: G -> A Calibration
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SNP: G -> C Calibration

40

20

3 2 1 O

O. 0. D 0.
o o o o
pauipow=Aaib/on|q

|[ediuoued=abuelo/pal
Ayisuaq Ayjigeqoud

o [Te] o Te] o
e ~ un o 9
— o o o o
mel=3|dind
pajelqijed=abuelo
Ayjigeqoud
PalIPON [edladwy

Tl o N
|

U_COHOCOC._HO@ml_O
Y17 pajesqiied

Theoretical LLR (NN Score)



SNP: G -> T Calibration
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SNP: N -> N Calibration
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SNP: T -> A Calibration
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SNP: T -> C Calibration
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SNP: T -> G Calibration
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Deletion Length 1 Calibration
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Deletion Length 2 Calibration
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Deletion Length 3 Calibration
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Deletion Length 4 Calibration
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Deletion Length 5 Calibration
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Insertion Length 1 Calibration
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Insertion Length 2 Calibration

40

20

3 2 1 O

0. 0. 0. 0.
o o o o
pauipow=Aaib/on|q

|[ediuoued=abuelo/pal
Ayisuaq Ayjigeqoud

o [Te] o Te] o
e ~ un o 9
— o o o o
mel=3|dind
pajelqijed=abuelo
Ayjigeqoud
PalIPON [edladwy

T T T
Te} o Tel
|

U_COHOCOC._HO@ml_O
Y17 pajesqiied

Theoretical LLR (NN Score)



Insertion Length 3 Calibration
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Insertion Length 4 Calibration
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Insertion Length 5 Calibration
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